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// @UE - 31 ( Section-A )
K%ﬁam#ﬁqmﬂrmmy 4= 0 2x+ky-3=07
¥ g A R e

For which value of K,

x+y-4 0; 2x+ky-3=0 haveno. solution.
@rfuavqémmﬁmaﬁm

Mu]tlply 103x107 by using sutra “Ekadhiken Purven.”

AR A 2,.7, 12 ... TS 96 J B -

Find the 11th term ofAP 2,7, 12 e

/ ta113000t30 &1 9 F7 FAC

Find the value of 2tan30cot30 .
fag (-3, 4) Bt x-a18 A 0 9@ FIFTCL

Find the distance of point (-3, 4) from x-axis.

qamdqamnwﬂﬁmmﬁﬁ@?hmmmaﬁﬁm

. / " The radius of a semi circle shaped plot is 14 cm. Find its perimeter.
/ @ﬁéwméﬂﬁ%ﬁt%mwmm?

Diameter of a sphere is 6 cm, then find its volume?
773,817, 5, 4, 10 TUT 9 T WA I L
" Find the median of 3,8, 7, 5,4, 10, 9.
09, R Tl A W Si] 51 2T 9 T ) SR T A
N Two dice are thrown once, find the Probability of getnn gsum is 9.
197 PUC. F QU AN sl
- Whatis the full form of P. uc.

Linear pair
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);/ TR A 84, 80, 76 .. Tﬂﬁmqﬁ:ﬁ%l
Which term of an A.P. 84 80,76 ......... IS zero.

(// TF AABC ¥, wﬁwAD BEJ CF fag G W whrede wxd ¥
fis =it s AD+BE>;AB

Ina triangle ABC, medians AD, BE and CF intersect each other

at G. Pfove that AD+BE> %AB

J/ élmqﬁashaﬁw TS I 4:9 ¥ N I P F
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If ratio of corresponding sides of two similar triangles is 4:9 then
find the ratio of their areas.

e fafy ¥ Frefafes T =t 7@ Fitew
- Solve the following equation by using Vedic method :
1 N 11 |

Write meaning of followmg traffic signs.
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~ @UE - W( Section-C)
‘/ﬁmﬁﬁn{ﬁ 6++2 o TR W ¥ |

Prove that 6 + J_ be a rational number. -

x+4 X- 7 30

LI S ;, (x#-4,7)
4 x-7 30

Vﬁ?ﬂﬂmfﬁ 2(cos 45°+tan® 60°) — 6(sin® 45°—tan? 30°) 6
. Prove that 2(cos 45°+ tan’ 60°) - 6(sin” 45°—tan” 30°) = 6

5t - —-,(Hv)mﬁ—m

- Solve equatlon
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sing--- 1+cose x
/ g f l+c059 sin@ = 2cosech

sine 1+ cosﬁ

+ =2cosecH
Prove that: 1+ cos@ sin® I

/ 7ﬁaﬁm%ﬁm%@m%ﬁmmwm60°%@ﬁ
T TR T AT I 45° % | TR F S T FH

Angle of elevation of top of a tower froma 7 m. high building is
60° and angle of depression of i tts footis 45°. Find the height of the

tower.
i maﬁmﬁaﬁq-ﬂgﬁaﬁmaﬁmmmzﬁﬁl

Prove that opposite angles of a cyclic quadrilateral are

supplementary.
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Find the area of the square inscribed in a circle of radius 8 cm.
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Two concentric circles have radius 5 cm and 3 cm respectively. Find
the length of chord of large circle which touches the small circle.
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In a trapezium ABCD, diagonal intesect each other at O and

I sow a BO DO
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(a) &1 011 T4 (b) W a6l Yo (c) W T 3T
~ One card is drawn from a well suffled decl-: of 52 cards. Flnd the

probability of getting the following :
(a) Card of red colour (b) A face card (c) Ace of heart




[4] [_J-205]

Q/ By - € ( Section - D)
< P e wiwt g ) et fafy @ v ifie-
Solve the following pair of linear equations graphically :
Ax — y= 4
X+y=-]

W BURECHIE 1 &k s 3x+y=9, fagafi (1, 3) 7 (2, 7)a$!fqar3‘f
m%%@ramﬁ%qemmﬁqumm%u

Find the ratio in which line 3x+y 9 divides the line segment
which joins points (1, 3) and (2, 7).

y./ & e & wfor g &t o st forge) spamd s 6, 8 @ 10
it ¥ | o fR e W aiEFm 0 PR e R fem ¥?
Draw a circumcircle of a triangle with side 6, 8 and 10 cm
respectively. Why does its circumcentre lies on a side of length 10
cm. |

T TR ¥ SN ST e W S 66 A, 42 A 21 Ah ¥
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The diamension of a solid rectanguiar slab of lead is 66 cm, 4’2 cm,
- and 21 cm respectively. Find by melting this, how many sphere of
diameter 4.2 cm can be forimed. |
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: Find the median from the followmg frequency dlstnbutlon

W<iich 20-30 30-40 40-50 50-60 | 60-70
Marks obtained

o1 1 W 4 | 8 | 2 | 20 [ s
No. of Students :






